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8. 15~ BEERE - BRmaeIsantE (Bt
8 : 30~ EE Pt (NX—V5—BiILE)
L—2BS| #misn | AS X5 BE | D#e | #8 e B5 EH10
1 920 | BNR | aRR4E | K-1 B 1% [ 500m
2 9025 | BRR | aR&E | K-1 & 2% | 500m
3 930 | BANR | aR4E | K-1 B 3 | 500m
4 935 | BANR | aRkE | C-1 & 1% | 500m
5 940 | BNR | a4 | C-1 B 2% [ 500m
6 945 | BRR | aR4E | WK-1| F& 1% | 500m
v 9560 | BARR | aRE | WK-1| & 2% [ 500m
8 o565 | BRIR |mwt/ma| WC-1 | R 500m
9 1005 | =&R | aRE | WC-1 | RS 500m
10 1015 | 2R | &KF | K-1 Hs 500m
11 1020 | BRE | BHEF | C-1 HS 500m
12 1025 | BRE | KF | WK-1 | RES 500m
13 [1030| =88R |mre/ms| K-1 | REs 500m
14 1035 | Z2RR | aRE | K-1 | ERES 500m
15 1040 | =&R | aR&E | C-1 HS 500m
16 1045 | =&ER | aRE | WK-1 | R 500m
N
17 1120 | B2R8 | PFE | C-1 SHS 500m
18 1125 | 28 | eRE | C-1 Hs 500m
19 1130 | BR0R | DFEE | k-1/wk-1|  RES 500m
20 1135 | 2R | RE | WK-1 | R 500m
21 1140 | BRR | RE | K-1 SRS 500m
N
22 1225 | =Z&ER | aRE | WK-2 | R 500m
23 1230 | ZXR | aRE | WK-2 | 2B 500m
24 1235 | =ZER | aRE | C-2 | R 500m
25 1240 | BRE |murezz| C-2 | RES 500m
26 1260 | ZRR | aRE | K-2 | R 500m
27 1255 | =& | aRE | K-2 | R 500m
28 1310 | ZRR | SRE | WK-4 | RS 500m
29 1315 |zan=er| GRE | C-4 | R 500m
30 1320 | ZRR | aRE | K-4 | R 500m




